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Bb : Back-up circuit breaker
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v : Generator voltage
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First After After Recovery
No. Y S.ex | PHASE
Peak 1/2== 2. 5% voltage (%)
e ) u 10. 1KA 5.29 KA 4.87KA 91.9
el 11.0 — % 11.4 5.29 4.79 92.6
. (10%) W 14.4 5.44 4.96 92. 4
13,15 U 10. 60 5.20 4.85 94. 4
-005 (16,/) 600V % 11.16 5.30 4.87 92. 6
< w 14. 66 5.44 5.01 93. 1
&= U 56. 6 27.8 24.8 92.3
-006 50%) — \s 57. 1 27.8 24.6 92. 1
? w 79.3 29.7 25.5 91.0
%%, 6 U 56. 6 27.4 24.8 90. 6
-007 509) | 690V % 59.5 27.8 25.0 91.8
v w 78.1 29.0 25.5 92. 4
B @ U 57.1 27.6 24.8 91.7
-008 50%) | 1200V % 58. 3 273 25.2 93.1
@ W 78.0 29.3 25.9 91.8
e U 88. 6 42.1 37.8 90. 8
-010 75%) = % 91.9 43.6 38.2 89.9
“ w 121. 8 45.8 39.1 91.3
_. U 89.0 41.6 37.6 91. 1
-011 759) | 1200V % 90. 5 43.3 38.6 93.2
w 121. 8 45.0 39.4 91.7
o U 126.5 58. 2 3o 91.1 Ave,
-012 00| — % 123.8 60. 6 51.5 90. 1
W 166. 4 61.6 52.5 90. 0 90. 4
53.0 .
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U¢ Current 5.29kA %2 [ 2 4.87kA X2y 2 Ug Current )
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V# Current 5.29kA x2y/ 2 4. 79kA X2/ 2 V¢ Current J
Wi\ Vig ' kb \/
W¢ Current 5 44kA x2¢72 — At N\82-9-1-003 (24KV 50KAX0.1) W¢ Current 82-9-1-005 (24kV 50kAX0.1)
VM 11V VM 11V
4.96kA X272 Sup Bx. Sig Sup Ex Vig 600V(AMP 1:3)
Ex.. \ig I
o ———— e e Sttt
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